	化合反应
	分解反应
	置换反应
	复分解反应

	点燃

2Mg+O2===2MgO
点燃

S+O2 ====SO2
点燃

C+O2====CO2
点燃

2C+O2=====2CO

高温

CO2+C=====2CO

点燃

4P+5O2====2P2O5
点燃

3Fe+2O2===Fe3O4
点燃

2H2+O2===2H2O

点燃

2CO+O2===2CO2
CO2+H2O=H2CO3

2SO2+O2=2SO3
2H2SO3+O2=2H2SO4
SO3+H2O=H2SO4
	△
Cu2(OH)2CO3===2CuO+H2O+CO2↑

MnO2
2KClO3=====2KCl+3O2↑

△

△
2KMnO4===K2MnO4+MnO2+O2↑

通电
2H2O====2H2↑+O2↑

△
H2CO3===H2O+CO2↑

高温
CaCO3===CaO+CO2↑

△
NH4HCO3====NH3↑+H2O+CO2↑
△
＊2NaHCO3== Na2CO3+H2O+CO2↑

	Zn+H2SO4==ZnSO4+H2↑Mg+H2SO4==MgSO4+H2↑

Fe+H2SO4 ==FeSO4+H2↑

2Al+3H2SO4 ==Al2(SO4)3+3H2↑

Zn+2HCl==ZnCl2+H2↑

Mg+2HCl==MgCl2+H2↑Fe+2HCl==FeCl2+H2↑2Al+6HCl==2AlCl3+3H2↑

△

＊H2+CuO===Cu+H2O
高温

＊C+2CuO=====2Cu+CO2↑

Fe+CuSO4==FeSO4+Cu

CuSO4+Zn==ZnSO4+Cu

2AgNO3+Cu==Cu(NO3)2+2Ag


	Fe2O3+6HCl==2FeCl3+3H2O

Fe2O3+3H2SO4==Fe2(SO4)3+3H2O

CuO+H2SO4==CuSO4+H2O

NaOH+HCl==NaCl+H2O
HCl+NH3·H2O==NH4Cl+H2O
2NaOH+H2SO4==Na2SO4+2H2O
Ca(OH)2+H2SO4==CaSO4+2H2O
H2SO4+2NH3·H2O==(NH4)2 SO4+2H2O
CuSO4+2NaOH==Cu(OH)2↓+Na2SO4
CuSO4+ Ca(OH)2== CaSO4 +Cu(OH)2↓

(NH4)2 SO4+ Ca(OH)2= CaSO4+2H2O+2NH3↑
(NH4)2 SO4+2NaOH ＝Na2SO4+2H2O+2NH3↑

NH4NO3＋NaOH ＝NaNO3+H2O+NH3↑
FeCl3+3NaOH==Fe(OH)3↓+3NaCl

Ca(OH)2+Na2CO3==CaCO3↓+2NaOH
CaCl2+Na2CO3==CaCO3↓+2NaCl

BaCl2+Na2CO3==BaCO3↓+2NaCl

CaCO3+2HCl==CaCl2+H2O+CO2↑Na2CO3+2HCl==2NaCl+H2O+CO2↑

NaHCO3+HCl==NaCl+H2O+CO2↑
*2NaOH+ CaCl2= Ca(OH)2↓+2NaCl

	其它

反应
	2NaOH+CO2==Na2CO3+H2O

2NaOH+SO2==Na2SO3+H2O

△
CuO+CO====Cu+CO2
高温

FeO+CO===Fe+CO2
高温

Fe2O3+3CO====2Fe+3CO2
	高温

Fe3O4+4CO====3Fe+4CO2
Ca(OH)2+CO2==CaCO3↓+H2O

点燃

CH4+2O2===CO2+2H2O

点燃

C2H5OH+3O2===2CO2+3H20


	
 6CO2+6H2O       C6H12O6＋6O2
 

C6H12O6＋6O2       6CO2+6H2O
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